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Ey estimator (without y conversion)
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E. resolution

(without y conversion)
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No. of hit in the first layer of ECAL
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Information
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Invariance mass of r° No. of charge<1
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EfﬁCienCy No. of charge<1 & No.of cluster = 2
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Efficiency
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Ey resolution with calibration

(ArborPFOsCollection without y conversion)
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Parameter f|t (without y conversion)
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Parameter f|t (without y conversion)
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Combining result in Ecal (energy estimator)  No. of charge<1
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Combining result in Ecal (energy estimator) no. of charge<
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Combining result in Ecal (energy estimator) no. of charge<1
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Combining result in Ecal (energy estimator) no. of charge<
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9 mass (13GeV) ArborNeutral

without y conversion
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n® mass (15GeV) ArborNeutral

without y conversion
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m® mass (17GeV) ArborNeutral

without y conversion
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9 mass (19GeV) ArborNeutral
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